Multiplying Radical
Expressions Worksheet

Solve
@ (46 +2) (V6 -5) @ -2(72 (3+V72)
B (5-4V5)(-2+5) @ (5+4V3)(3+73)
5 (1-4v2) (4442) ® (V3 -2)(VT 1)

___________________________________________________________________________________

D (-aZx+2)(-2vZ-4) | @ (V5 -V3)(VE +V3)

___________________________________________________________________________________



Multiplying Radical
Expressions Worksheet

Answers
@ (-4V6 +2) (V6 -5) @ -2y72 (3+12)
226 -34 1243 -24
B (5-4V5)(-2+V5) @ (5+4V3)(3+V3)
-30+135 27 +17/3
(1-4V2) (4 +42) @ (243 -2)(V3 -1)
| 4-15V2 ' 8-4+/3 |

___________________________________________________________________________________

D (-aZx+2)(-2vZ-4) | @ (V5 -V3)(VE +V3)

16Vx +16V2x-4vV2 -8 | 2

___________________________________________________________________________________




